
ID = 741 PRL : STUCK



ID = 745 PRL: Dead Chip :S12: + STUCK Cell : STUCK_CELL + S12 :Dead



ID = 745 PRL: Dead Chip :S12: + STUCK Cell : STUCK_CELL + S12 :Dead



ID = 749 : S11 :hPRL LargeGainSpread



ID = 753 : S03 :LargeGainSpread@PRL



ID = 754 : S01 :Negative Offset



ID = 754 : S01 :Negative Offset



ID = 763 : S12 :Abnormal Calib



ID = 769 : S12 : Dead



ID = 792 : M00 : Negative Offset + : S01 : High Offset



ID = 776 : M00 : Dead



ID = 856 : S03: NegativeOffset



ID = 868 : S09: NegativeOffset



ID = 894 : S10: NegativeOffset



ID = 925 : S11: LargeGainSpread



ID = 933 : S04: LargeGainSpread



ID = 949 : S02 :LargeGainSpread + : S04 :HighOffset



ID = 958 : S08: LargeGainSpread



ID = 992 hPRL : S02: LargeGainSpread



ID = 992 : S02 :LargeGainSpread



ID = 1008 hPRL : S04:LargeGainSpread



ID = 708 hPR : M08:Negative offset



ID = 708 hPR : S09 +S10:Dead



ID = 815 hPR : S04:Ch529 STUCK



ID = 1038 hPR : S09 :Negative Offset



ID= 1062 hPR :S11: LowGain



ID = 1080 : M00 LargeGainSpread


